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I BEFBRIZO
1. BREEBERA
@ BXRHEERARA
HEARBERBIRA 2,100 2,500 A 400 |(EXRtE
SERIFES10, 000, 000
@ BHEHIA
FEHARA 9, 005, 000 8, 505, 000 500,000 |74 ARy isr—&e%
&/ —8 A @30,000%x 5= 150, 000
&/ —#EB @25, 000 x 34= 850, 000
B#&/A—L K @20,000x 1= 20, 000
B/ &F @25, 000 x 6= 150, 000
F&/ K= @25,000x 8= 200, 000
Gilr Va5 @20,000x 1= 20, 000
&/ che - b @15,000x 8= 120, 000
EEeE @ 8,000x70= 560, 000
HiLREB @ 5,000x70= 350, 000
KB/ K2 @ 5,000x1,012= 5,060, 000
K8/F—NLF @ 3,000x201= 603, 000
=8/%F @ 4,000x100= 400, 000
SB/BK - VE @ 3,500x140= 490, 000
1054 okybr—86
&/ —#% @12,000x 1= 12, 000
S8/ @ 2,000x10= 20, 000
@ BEERA
ERIREBES M 100, 000 100, 000 0| & - DbuHE @2, 000 x 25 x 2[@] 100, 000
EREERBESMH 60, 000 60, 000 0 n—IiEES @1, 000 x 354 35, 000
ARy -BHER @1,000x 154 15, 000
{3{vkyr-HES  @1,000x 104 10, 000
EHEEREBESMH 60, 000 60, 000 0| L7zyY—#EEs @1,500x40% 60, 000
mEhm EEESME 250, 000 250, 000 0] Da=7i{EET @5 000x25% x2[E 250, 000
RESREEESmH 3, 320, 000 3, 305, 000 15,000| #¥REFHEXRE @40, 000 x 38 1,520, 000
Ly s57y—4 @20,000x 33 660, 000
TMREFRE @15, 000 x 56 840, 000
L7 EEEHFM 300, 000
@ wWHeEFIRA
RrE#@#BIEIRA 479, 000 638, 000 A 159,000| (BD) iR GHEHS
BB AR LEEHEE 200, 000
MRXE - BX£He 119, 000
B ABET A Ry r—ER
KEBY—5 -4 hLET RS 160, 000
REEMBIA 400, 000 400, 000 0| FrERBEEMNE 400, 000
® FEIRA
FAEUIA 200, 000 200, 000 0| ERMfE-REL% - RAFGTLE 200, 000
® A
HARA 55, 000 55, 000 0| ZBHIKH- - BEFSHSFHEMb 55, 000
SZEFRUXA 500 500 0] T EHESME 500
BEIHIA 13, 931, 600 13, 576, 000 355, 600
2. BEFEHZH
D BHEEBIH
(BERIREEEIE)
Eot ER ) 0 62, 800 A 62,800
REXEEXH 100, 000 20, 000 80,000 EHEHENXEE
BEEREXH 10, 000 10, 000 0| ©F - BEHE - FAGEEE
ENEP N 2] 10, 000 10, 000 0| &HEIRE
HAEHEREXEY 100, 000 25, 000 75,000 RyH %
BEEHEH 500, 000 100, 000 400,0001 U o ERHE
SEEXH 10, 000 10, 000 0| =ITEBL%E
HHem 200, 000 180, 000 20,000 fEEEHE
HEREXH 10, 000 10, 000 0| EBHEER - AERSE
M 5, 000 5, 000 0| HBHAEEE
ERiEEBEXRL it 945, 000 432, 800 512, 200




#B | »# MEEFER B &%
(FEREERBEIL)
HBEXH 0 62, 800 A 62,800
REZ BRI 10, 000 10, 000 0| AFREIAER
BIEEREX S 5, 000 5, 000 0| ¥I1F- BEMS - FAGEER
ARSI AR X H 5, 000 5, 000 0| BMENRIE
FEHRBRXH 10, 000 10, 000 0| Kvorre
B xH 20, 000 20, 000 0| %15 mREHRNS
LHBIH 5, 000 5, 000 0| =75A%
HE¥e X 15, 000 15, 000 0 #EmHIL (ZHE2H)
HERBRH 10, 000 10, 000 0| BEHES - BERS
EEBARLH 10, 000 10, 000 0
M 5, 000 5, 000 0 #®m
EBERRBEXH & 95, 000 157, 800 A 62,800
(BHEEREEXH)
B 0 62, 800 A 62,800
IRESERIH 100, 000 10, 000 90,000| L7ry-HREsER
BEEREIH 5, 000 5, 000 0| 41F - BEHS - FAGEER
RIS AR X 20, 000 20, 000 0| &HERE
B3 90, 000 10, 000 80,000 15 - EREMELES
LBEXH 20, 000 20, 000 0| =FEAS
e 15, 000 15, 000 0| e
HERBRXH 5, 000 5, 000 0| EHERS - AELE
HEBARIH 50, 000 50, 000 0| BEBRAISWA
M 5, 000 5, 000 0| m#m
EHEERBEXH i 310, 000 202, 800 107, 200
BRABLEEXMH)
B 0 62, 800 A 62, 800
REZERXH 10, 000 10, 000 0| HEEETER
EEERBEXH 5, 000 5, 000 0| tF - BiEHSE - FAGEER
FEERRXH 70, 000 70, 000 0| 2=rh—b- So—THth
B 250, 000 350,000, A 100,000 15 - HEEELS
BERXH 100, 000 100, 000 0| E=mEEAES
KEBEXH 10, 000 10, 000 0| a—Fa@me
BERS S 5, 000 5, 000 0| mERENRI
HBS W 230, 000 360,000 A 130,000| EWEHS (J RBALER - Ih% - KF)
HERBIH 5, 000 5, 000 0| SBAS - BEREE T/ LLKS
HEEAEXH 5, 000 5, 000 0| BEBASHA
Bt 15, 000 15, 000 0 EEEE- 2o
BRAMETEEXE i 705, 000 997,800 A 292,800
(FLIRBR B A SBES ERH)
T SE e 0 376,800 A 376,800
i 3-6°3.5 ba 200, 000 200, 000 0| mEER
FAEBRBRXH 150, 000 150, 000 0| a=h—i- Se—SH
BIEEWE T 150, 000 150, 000 0| U1F - BEESE - FAX - BREEREY - TOM
ETERS - S 350, 000 350, 000 0| BFE-H45TU—Y - HEARE A /—%K
BB 10, 000 10, 000 0| 2% BRZA - AL2RERFERER
HMILE T 200, 000 200, 000 0| REH - BFE- 57—V - TRASLE
B 250, 000 250, 000 0| 215 mREANSE
LHBEXH 100, 000 100, 000 0| &EXLEFEAS
HBE X 810, 000 810, 000 0| &BBLGERY - EFHHS
HESBREH 200, 000 200, 000 0| SHAMESR  BERS - YIRS
B B R 150, 000 150, 000 0| xAREBABE
M 200, 000 350,000] A 150,000] &@xeM®E - REES
R ASBESEXE 5| 2 770,000]  3,296,800] A 526,800
(ER - BNEEXH)
R i) 0 0 0
MRE BB 800, 000 500, 000 300,000| EPHREZES
AERREXH 300, 000 150, 000 150,000] L=rh—L - So—Sth
BEERBIM 5, 000 5, 000 0| 91 BEHS - FAX - BREEREY - 204
ENRI B A 3 5,000 5,000 0
TREE T 150, 000 0 150, 000| EK - WHREE
BEBRIH 50, 000 50, 000 0| R+t -BES
B 100, 000 100, 000 0| 2% mREEES
SBBEXH 50, 000 50, 000 0| =FEALS
HHEXH 100, 000 100, 000 0| BHBE  E@mHe
HERBEXH 30, 000 30, 000 0| SHEAMESD -  BERE - SYIRE




#BE FHEE MEETER R 53
BiEREEIH 1, 200, 000 1, 200, 000 0| BXRRACIKE - TAEZR
M 20, 000 20, 000 0 &EHYE
EA - BNEERH i 2,810, 000 2,210, 000 600, 000
UrA-ERIRRBETH)
BRESBETH 30, 000 30, 000 0| BmREREGE
BRER S H 30, 000 30, 000 0| S%pmExE
- ERIRREETH & 60, 000 60, 000 0
(GHEBREEZH)
A 0 0 0
SEBEIH 5,000 5, 000 0| v7rERITE LS
BEEREH 5, 000 30, 000 A 25,0000 1F - BESS - FAGEER
RIEAEZH 5,000 10, 000 A 5000 EHREH - KREEEMRE
HEBAERH 10, 000 80, 000 A 70,0000 - BH - DEBEHEA
HELREXH 10, 000 10, 000 0| EHELES - AR
FEEHIH 160, 000 160, 000 0| R—LR—SHEBEEER
BIH 5, 000 5, 000 0
LHEBEESS iH 200, 000 300, 000 A 100, 000
(TR H)
ZHHXH 3, 500, 000 3, 500, 000 0| B7E-#7&E- EBBHRH MBHEG- 28)
fEEFH 400, 000 400, 000 0] #E7:E- HiAlh mBEHES
fiBEEH & 3, 900, 000 3, 900, 000 0
@ TEHEXH
% B $REN 0 0 0
BHXH 320, 000 0 320,000 ZisiA
ERELEEXH 10, 000 0 10, 000
SHEXH 350, 000 350, 000 0 BER - FHEES FMERLRERS
BN EZH 700, 000 700, 000 0 BERE - - 258
REZEEXH 200, 000 450, 000 A 250,000 LEEHEE (BER - FHEEL - EIEERYE)
E B (BEL-FHEs-BXRES)
EEERERE 225, 000 225, 000 0| EBE-FAXH - DIF%
HERBEXH 100, 000 100, 000 0| EBESN
FIRIS AR 70, 000 50, 000 20,000 B/EHG - BBEE- 26— r+— - RIBE
EEHEH 10, 000 700, 000 A 690,000 EXRHNBESER
AMARXH 70, 000 70, 000 0| ZABSSEIS GE-H) - FERER
ElEXH 360, 000 360, 000 0| EmEYEFER (18)
FEEHXH 400, 000 400, 000 0| £FNBEH
HHERH 20, 000 20, 000 0] BERATY E—1)—RHE%
X 100, 000 100, 000 0| wEAFHH 4
EEE X W | 2,935,000 3, 525, 000 A 590, 000
BEETEHXH B 14,730,000] 15, 083, 000 A 353,000
EEZHBIEER A 798,400] A 1,507,000 708, 600
I BEFHIZOR
1. BEFEIRA 0 0 0
BREZSHWA 0 0 0
2. BEFEXH 0
BREZSIH i 0 0 0
BREFHBIGEESR 0 0 0
I EMEEHIRZOE
1. BAFEEEIRA 0 0 0
BEERIRA  F 0 0 0
2 MESTH 0
BEEeSRE = 0 0 0
B EBRINEESH 0 0 0
NV FHEEXH 250, 000 250, 000 0
L INFELE A 1,048, 400] A 1,757,000 708, 600
AR T =4 0
HERBBIN T ELE 0




